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1.  Consider the following statements : 3. As per the NSSO 70" Round “Situation
; ‘ S W f Agricultural
1. In the first Lok Sabha, the single largest Assessment Survey . AT

party in the opposition was the Ilouseholds”,  consider  the  following

Swatantra Party. Satamants : )
1. Rajasthan has the highest percentage
2. In the Lok Sabha, a “Leader of the share of agricultural households among
Opposition” was recognised for the first | its rural houscholds.
time in 1969. 2. Out of the total agricultural housecholds in
the country, a little over 60 percent belong
3. In the Lok Saubha, if a party does not to OBCs.
have a minimum of 75 members, its 3. In Kerala, a little over 60 percent of
leader cannot be recognised as the agricultural households reported to have
Leader of the Opposition. received maximum income from sources
. other than agricultural activities.
Which of the statements given above is/are Which of the statements given above is/are
correct ? correct ?

)  2and 3onl
(a) 1and3only “ vl 4

(b) Z2only °
(b) 2only (c) 1 and 3 only \ (\

(c) 2and3only Qnd ¢
(d 1,2and3 4. ° How IX”“\I\“L“"MI Green Tribunal (NGT)
< \;13 from the Central Pollution Control
“ﬁm@ \“ oard (CPCB)?
=,
\ ¥ . 1.  The NGT has been established by an
2. Which of the f&l q" i Aeah| modifications Act whereas the CPCB has been created
occur(s)}.m‘im\{k/ r:; d‘ca@ td inhibit water by an executive order of the
lody? Government.
L Iard and waxy leaves 2. The NGT provides environmental

justice and helps reduce the burden of

2. Tiny leaves litigation in the higher courts whereas

3. Thorns instead of leaves the CPCB promotes cleanliness of

streams and wells, and aims to improve
Select the correct answer using the code given the quality of air in the country.
below : Which of the statements given above is/are
(a) 2and 3 only correct ?
(b) 2only ! Taonly

(b) 2onl

(c) 3only y

(e) Both1and?2
(d) 1,2and3

(d) Neither 1 nor 2
CYRF-F-TXLI (3-A)

RaadheytheVisiion | | Contact us: - +91962575753; +918889907405
mailto:mentorship@raadheythevisiion.in raadheythevisiion.in
Mukherjee Nagar, North West, Delhi-110009



mailto:mentorship@raadheythevisiion.in
raadheythevisiion.in

CYRF-F-TXLI

ﬁn%%mmﬁmﬁmumm;

1. ¥Ra i 5o fordl wra fasi #1 wma &
afaum i i gl 1 o g 2 |

2. AW sgEeh H e R wEm &
Ay w1 qhew e =mEem g TE
& s e w@ s I EE foly
&1 foran < wear 2 |

I9gEa HYH 4 F P08 16 27E 2

(a) Faa 1

(b) a2

(© 13 22Mi

d Fa@M 1,782

ﬂ?‘ﬂ-ﬁﬁ‘iﬂﬂﬁ'{ﬁﬁﬂﬁaﬁﬁ “a‘nqﬁ@
T (e fomre ®) = fefafes § &
HH-A1 TE TE TR FE@T R 2

m)ﬂgﬁﬁaﬁmﬂﬁﬁamﬁﬂﬂﬁgﬁﬂ\i

% Sfe w1 & wem 7 1
g

w%mfam
\T\\a)
(b) g& it

Emawmmmnqwmmasm
relt Tl B |

(@ ¥ ¥F g et samm W gy wrEdi %
efee F1E & yam 3 W s S e
T 2 |

(d) ¥’ WHER g AMME F o9 TEH F
Wige e F@ (d.ofwm.) meiEl sin
e € F mem @ fefea grm =
:?Wiﬁ%%ﬂﬁmmﬁwmﬁm@

|

ﬁ

(4-A)

8.

relt Tm & TR gitedl 998’ % s a1

F1/F T IO 272 2

1. 3HSl 9EY FdlaH IR TEd HUe W
st @ | S |

2. W Ta “MifEm sy swER w6
(T.H1.8.) 1 e 71 v @ |

394 HYAI H F BE-AVE Td 2E 2
(a) ad 1

(b) a2

(© 13 22H

() JTda 1,98 2

%

Tﬂ Tqmﬁmscmmmqum?ﬁ%
ﬁmanmunﬁ%ﬁﬁnﬁéﬁm@mm
TE 2

1. mamaﬂmﬁhn%wm%sﬂﬁmm
T mm g

2. uwa U fame daw 23 9t averd o
I R WA G AR w=m
HOHIa” % I=q 299 HeZ H T T
qHd 2 |

ﬁH&@W@%ﬁ@Wﬂﬁﬁﬁﬂﬁw:

(a) had 1

(b) Had 2

(¢) 13 23]

(d JTd1L,3d2

RaadheytheVisiion | | Contact us: - +91962575753; +918889907405

mailto:mentorship@raadheythevisiion.in

raadheythevisiion.in

Mukherjee Nagar, North West, Delhi-110009



mailto:mentorship@raadheythevisiion.in
raadheythevisiion.in

6.  Consider the following statements : 7. What is/are the consequence/consequences of

a count becoming the member of the
1. The Parliament of India can place a Y &

: ; ; ‘Nuclear Suppliers Group’ ?
particular law in the Ninth Schedule of P

the Constitution of India. 1. It will have access to the latest and
2. 'The validity of a law placed in the Ninth most efficient nuclear technologies.

Schedule cannot be examined by any 2. It automatically becomes a member of

court and no judgement can be made on “The Trealy on the Non-Proliferation of

it. Nuclear Weapons (NPT)”.

Which of the statements given above is/are Which of the statements given above is/are

correct ? correct ?
(n) 1only (a) 1only
(b) 2only (b) 2only

(¢) Both 1and2 (¢) Bothland2

(d) Neither 1 nor 2 (d) Neither 1 nor 2

\ 1

6.  Which one of the Io{]uwmg best describes the 8. . Wlll re C0®delab de(:lswn to levy an
term “Merchant Discount Rate” sometimes

] 3 quahm vl Lla of on online
seen in news ?

\k @ \ dvertmement services offered by
O%il

(a) The incentive given b} "’\ non-resident entities, which of the following

merchant C ‘}‘"g pay ents statements is/are correct ?

througl% d@ @mperlymng to that .

It is introduced as a part of the Income

(’ Tax Act.
(b) % The amount paid back by banks to their

customers when they use debit cards for

financial transactions for purchasing
. "o 1 1 -
- claim a tax credit in their home country

under the “Double Taxation Avoidance
Agreements”.

2. Non-resident  entities that offer

advertisement services in India can

(¢)  The charge to a merchant by a bank for
accepting payments from his customers

Select the correct answ i i
through the bank’s debit cards. i

. below :
(d) The incentive given by the Government (a) 1only
to merchants for promoting digital
payments by their customers through ®) . 20nly
Point of Sale (PoS) machines and debit (¢} Both1and?2
cards. (d) Neither 1 nor 2
CYRF-F-TXLI (5-A)
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9.  Consider the following statements :

1. The Fiscal Responsibility and Budget
Management (FRBM) Review
Committee Report has recommended a
debt to GDP ratio of 60% for the general
(combined) government by 2023,
comprising 40% for the Central
Government and 20% for the State
Governments.

2. The Central Government has domestic
liabilities of 21% of GDP as compared to
that of 49% of GDP of the State
Governments.

3.  As per the Constitution of India, it is
mandatory for a State to take the
Central Government's consent for
raising any loan if the former owes any
outstanding liabilities to the latter.

Which of the statements given above is/are

correct ?

(a) 1lonly

(b) 2and 3 only

(¢) 1land 3only X\@

(d) 1,2and ‘3 w k

W . /‘\
10. Considerthe i‘ollowmg statements :

1. © The quantity of imported edible oils is
more than the domestic production of
edible oils in the last five years.

2.  The Government does not impose any
customs duty on all the imported edible
oils as a spccial casc.

Which of the statements given above is/are |

correct ?

(a) 1lonly

(b)  Zonly

(¢) Bothland?2

(d) Neither 1 nor 2

CYRF-F-TXLI (7-

11.

12.

\q\

A)

He wrote biographies of Mazzini, Garibaldi,
Shivaji and Shrikrishna; stayed in America
for some time; and was also elected to the

Central Assembly. He was

(a) Aurobindo Ghosh
(b) Ripin Chandra Pal
(¢) Lala Lajpat Rai
(d) Motilal Nehru

Consuler the follo\(\%state&r@

tlh ar uml can be used as a proof o

cmzenshlp or domicile.

2. Once issued, Aadhaar number cannot b
deactivated or omitted by the Issuing

Authority.

Which of the statements given above is/art

correct ?

(a) 1only

(b) 2only

(¢) DBothland2
(d) Neither 1 nor 2
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13. Which of the following has/have shrunk
immensely/dried up in the recent past due to
human activities ?

1.  Aral Sea

2.  Black Sea

3.  Lake Baikal

Select the correct answer using the code given
below :

(a) 1lonly

(b) 2and3

(c) 2only

(d 1land3

14. “Rule of Law Index” is released by which of

the following ?

(a) Amnesty International

(b) International ymrt ,,5 S

(¢) The Oﬁicf UN\-Cb rissioner for
%m‘ﬁlgh

(d](:’orld Justice Project

15. Which one of the following links all the ATMs

in India ? '
(a) Indian Banks’ Association
(b)  National Securities Depository Limited
()  National Payments Corporation of India
(d) Reserve Bank of India
~ CYRF-F-TXLI (9
——

16.

-A)

Consider the following statements :

1. Capital Adequacy Ratio (CAR) is the
amounl that banks have to maintain in
the form of their own funds to offset

loss that banks if the

account-holders fail to repay dues.

any incur

2 CAR is decided by each individual bank.

Which of the statements given above is/are

correct ?

(a) 1lonly

(b) 2only

() Bothland2

(d) \Teither 1 nor 2

X\

o
AR
iﬁ \‘h:. identity platform ‘Aadhaar’ provides open

Application Programming Interfaces (APIs)”.
What does it imply ?

1. It can be integrated into any electronic
device.

2. Online authentication using iris is
possible.

Which of the statements given above is/are

correct ?

(a) 1lonly
(b) 2only
(c)

Both 1 and 2

(d) Neither 1 nor 2
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CYRF-F-TXLI (10-A)

Ry
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(c) a3
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18. Very recently, in which of the following

countries have lakhs of people cither suffered
from severe famine/acute malnutrition or died
due to starvation caused by war/ethnic
conflicts ?

(a)
(b)
(¢) Venezuela and Colombia

(d)

Angola and Zambia

Morocco and Tunisia

Yemen and South Sudan

19. Regarding Wood’s Dispatch, which of the
following statements are true ?

1. Grants-in-Aid system was introduced.

2. [Establishment of

recommended.

universities was
3. English as a medium of instruction at all
levels of education was recommended.
Select the correct answer using the code given
below :
(a) 1land2only
(b) 2and3only.
(¢ 1and3 nnl
(d) 1,2 an.

WK ug)mnce to the Parliament of India,
the following Parliamentary
Committees scrutinizes and reports to the
whether the

regulations, sub-rules,

20.

which of

Iouse

powers to make

rules, by-laws, ete.
conferred by the Constitution or delegated by
the Parliament are being properly exercised
by the Executive within the scope of such
delegation ?

(a)
(b)
(e)

(d)

Committee on Government Assurances
Committee on Subordinate Legislation
Rules Committee

Business Advisory Committee

CYRF-F-TXLI

@\5 oS

21.

; 58

(c)
(d)

22.

2,
3.

(a)
(b)
(e)
(d)

(11-A)

Which of the stat

cnrro:.? ?

cu('
A

Consider the following statements :

As per the Right to Education (RTE)
Act, to be eligible for appointment as a
teacher in a State, a person would be
the minimum
qualification laid down by the concerned
State Council of Teacher Education.

required to possess

As per the RTE Act,
primary classes, a candidate is required
to pass a Teacher Eligibility Test
conducted in with the
National Council of Teacher Education
guidelines.

for teaching

accordance

In India, more than 90% of teacher
education institutions are directly under
the State Government®g.

t‘; gn n :bove is/are

land 3

3 only

Consider the following pairs :

Tradition State
Chapchar Kut festival — .Miznmm
Khongjom Parba ballad — Manipur
Thang_-Tn dance — Sikkim

Which of the pairs given above is/are correct ?

1 only
1 and 2
3 only
2and 3
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23. fr=fafEs weEi o fF=m Hifsw -

24.

CYRF-F-TXLI

1. @™ gan e o sfutEm, 2006 A
@ Jufize 6 Jwam (Reve o %
Teeate) sifufam, 1954 %1 wfaeenfyq
foma |

2. WRAN @ A ud WEe Wive (g3
AR we Wugdw JAMA 34iF 3fean)
(THh.UA.TE.C.3E.) S5 WReE w
UiER Few HEeE 0 w\Red dar
HRIeTs % T H R |

IF S § A BH-AVE TE RE 2

(a) Had 1

(b) Haw 2

1 3R 28]

L EC T R R ST S
Hieqwa” femeht nfafafidi % H2d § ot 2 2

(c)

(d)

eyt

(a) ==
(b) TS
(c) U=

(d) 3974

25.

26
a\ﬂ
=

27.

(12-A)

T @ gren sfufiEm, 2013 % i aam

e Igadl % Hgd H, Frafefes s w faur

Hfa .

1. aa 3 € e geEda s @ o
$1 9 W@d @ S il @ 8 Y

- (dduE.) 2oft § s E

2. UiEW A 1899 a1 39d HAfuw 3w 6 gl
arfues 3n areht wfeen @ wwm € frfa
%ﬁqﬁaﬁ%uﬁmémmgﬁaﬂr
S |

3. wmigdl nfgemd vd foem aret grand
Wfa;mzﬁmg?maq?ﬁ?aﬁ
am\uﬁﬁanoéﬁr&ammmé
9 1 THEL B |

9 el 4 | BV T 28 2

(a) 132

(b) I 2

131 3
(d) Hag 3°

(c)

a8

HEL, _:fn'hﬁzm, 1999 # fr=fafies § &
fhed wafim afrel % omuen & fag @mg
e a2

(a) TTE.TeA.31.

(b) 37T3.UH.UW,

(© 3FuAH.d.0d.

(d) &g d.3m.

Frafafgs sl w fgam Hif

1. WA H U9 SR H IR-hEen el 6
Hrerdt 1 arferen 7 2 ) :

2. %ﬁﬁﬂﬁmﬁw@gﬁﬁﬁaﬁeﬁqﬁ
|

3. TSHYM H TR 3TEH Hl @ 8 |

94T FUE H § B T8 2 2

(a) 132

(b) TFaw 2

(0 133

(d) <Hae 3

RaadheytheVisiion | | Contact us: - +91962575753; +918889907405

mailto:mentorship@raadheythevisiion.in

raadheythevisiion.in

Mukherjee Nagar, North West, Delhi-110009



mailto:mentorship@raadheythevisiion.in
raadheythevisiion.in

23. Consider the following statements : 25. With reference to the provisions made under
the National Food Security Act, 2013,
1. The Food Safety and Standards Act, consider the following statements :

1. The families coming under the category

2006 replaced the Prevention of Food of ‘below poverty line (BPLY only are

Adulteration Act, 1954 eligible to receive subsidised food
' ' grains.
; d 2. . The eldest woman in a household, of age
- . FO.Od Belety e Beandancs 18 years or above, shall be the head of
Authority of India (FSSAI is under the the houschold for the purpose of

issuance of a ration card.

charge of Director General of Health 3. Pregnant women and lactating mothers
- i a‘’ - tion’ of
- . . . £ are entitled to a ‘take-home ra
Secrees 1o the Uske sty 1600 calories per day during pregnancy
Health and Family Welfare. and for six months thereafter.
Which of the statements given above is/are
Which of the statements given above is/are correct ?
(a) 1land?2
correct ?

(b) 2only

)

(a) 1only () land3 \ m
(d) 3 only (\ i ¥

(b) 2only-

262 I@a ék:( 'I‘hc Geographical Indications of

(¢) DBothland?2 \Gnu s (Registration and Protection) Act, 1994
@ \“ in order to comply with the obligations to
(d) Neither 1 nor2 % “&m (a) ILO _
(b) IMF
@ (¢ UNCTAD |
a (d WTO

(o

27. Consider the following statements :

24. The term “two-state solution” is sometimes 1. In India, State Governments do no
have the power to auction non-coa
mentioned in the news in the context of the mines.
affairs of 2. Andhra Pradesh and Jharkhand do no
have gold mines.
(a) China . ¥ 3. Rajasthan has iron ore mines.
Which of the statements given above is/ar
(b) Israel correct ?
. ' (a) land2
(¢) Iraq (b) 2only
(¢) land3
(d) Yemen @ 3only
CYRF-F-TXLI (13-=-A)
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28.

29.

30.

CYRF-F-TXLI

fefsies sy % werf 4, Frafafas wemi w |,

ﬁﬁ'ﬁm:

1. W (BHIM) ¥ 39dm %01 1§ % fomn
T’ T g dem, (UPh Hmﬁmtﬂa
B frdt =1 o w1 zEaw e @
ECici -l

2. W % f9u-fia 2w = o v &
I HEH B E, Hin Y § gt %
o 2 oo B 8 |

STEH FE § § BH-AA 98 8

(a) FaS 1

(b) Had 2

(© 131 23m:

(d) Tar 1,782

ﬁmi%rﬁaaﬁﬁaﬁq.msrg{ﬁﬁﬁ%qu

F TR W g R o

(a) éh@;s X\C

(b) \m@\%k’

AL A8 T F 138 UF 182 sifivaw

(a) =<t 2
PR & e A e v
HIBH

() e Frdi vd @ guan w5 At
(d) =wriEeE 9 & e

A\ \%

(14-A)

v Aaw ¥ "9y §, fafafaa § @ @R

FUH El TG 22

(a) T e (fadas) =i o= fadas a9 o
SO e 39H Fad fedl w % R,
IEE, W, YiEds @ ffEmm g
Hafud TEum E | .

(b) o9 fod= % wma fi w@fym 7Y @ T
ﬁ&ﬁﬁ:ﬂwﬁﬁlﬁyﬁnaﬂamﬁa
394Y Fd & |

(¢) w7 fatrrs yra i smwichwa B § ww
% fafgem & wafua dar 2

(d) mﬁ%mmm 0

% gufd & fafem & w= §

ﬁw%’@amwﬁaﬂﬁf*‘q;

L NIk WAUAT, % W H e el STem
T 4 S{cT1-37e Bar 2 |

2. ﬁmwm%aam‘i%aﬁzwqam
W1 % W % A1 F qod F Al B
21

SWF FET H A Ba/A w2 0

(a) e 1

(b) Had 2

(c) laﬁ{ﬂfﬁf

(d) Td 1,78 2
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28. With reference to digital payments, consider | 31, Regarding Money Bill, which of the following

the following statements : Astemeite ié ot torroct?

1. BHIM app allows the user to transfer (a) A bill shall be deemed to be a Money

’ g » wi - led s 5 E ’ s
money to anyone with a UPI-enable Bill if it contains only provisions

bank account. . _ K . .
relating to  imposition, abolition,

2. While a chip-pin debit card has four remission, alteration or regulation of

factors of authentication, BHIM app has ony ik

only two factors of authentication.
(b) A Money Bill has provisions for the

s s :
Which of the statements given above is/are custody of the Consolidated Fund of

SaEree India or the Contingency Fund of India.
()  1only (¢) A Money Bill is concerned with the
(b) 2only appropriation of moneys out of the
(¢) Doth1and?2 Contingency Fund of I?ld:

Xe regulation

(d) Neither 1 nor 2 (d) a'\ Mgm‘\@ alb wl\

bofrowin mm_\ or giving of any

% &: -antee by the Government of India.
29. Among the following cities, which ont. lie \ﬂ

a longitude closest to that of De
32. With reference to the election of the President
(a) Bengaluru

of India, consider the following statements :

ij(_lt_t's
1. The value of the vote of each MLA
(c) ur
@ Pune varies from State to State.
2. The value of the vote of MPs of the
? Lok Sabha is more than the value of the
30. International Labour Organization’s

vote of MPs of the Rajya Sabha.
Conventions 138 and 182 are related to - eq s of the Rajya Sabha

) Which of the statements given above is/ar
(a) Child labour

correct ?
(b) Adaptation of agricultural practices to
: (a) 1only
global climate change
. ! . (b) Z2only
(¢) Regulation of food prices and food
security (¢) Both1land?2
(d)  Gender parity at the workplace (d)  Neither 1 nor 2

CYRF-F-TXLI (15-A)
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83. Wrd & wed § ‘vimiim wn Wil sl | 85.
(muiv) F ‘afife w=ER (hwe

SigIhier)” 1 srgame w3 @ fifgard T 2 2
(@ w@fE won figw smdudu &
@ % e 3 e F )

b AF qom afrem suiu &
Frltarr & aifl7 a9 &

(© W & ww ThrfE gffed g
(@) & 2fm 5 w1 @
farsrarfirem &1 smam |

(d) 3 T O.0H. . H1 Hew w R |

T T % R i wew

(Wi T W Genehe s witew)

(GACSA) & ded #, fr=fafigs 1 & #RaA

HeH Hll B/E 2

1. GACSA, 2015 | i@ # gu Jeiarg R
HEIEH F U iy 2 |

2.  GACSA T Hg&gal § #18 auasHl afieg
Ie9 T g |

3. GACSA & fmiu & wma 6 wwes i
off | ‘

A= e e e w1 wEm W= wd s g
(a) %aw 13K 3

(b) e 2 S

(¢) aw 230k 3 \“

@ 123N g \“ s \

34. Frfafaa 39 w faw £ - 0\\5 \ \

1. el : . (ﬁﬂ“ i 8 BR9A W TR S5
o ( ¢ ' ” N -
9. wTEl (j » Teforem <fem AISHET HI/F ITIT /8 ?
m@\% L YRE fi awl seoe FehE w e,
3. f\@ S 6 < 3 e |
" %’@Q 2. Ok Aifem oS A e fed 93 sied
> FoafE el e o ww fh
6. quE mﬂt@ﬂiﬁﬂﬁmmaﬂmmmﬁ
' S A FHgi hl TAAT FE |
ST W A BEFA A (w3 .) 3. TN & Wl 1§ ¥ e qu
U =R Rl 4§ 4 8 o #AR A § fowrerd, vt sl @
o m ik THE 94eH bl § GE-BIE (Wi-Fi) 67 |
T A9 fau ™ gz w1 s ww wd v gfi
(b 3,4,5 3N ¢ (a) haer 1 3K 2
(© 1,3,4 3R 5 (b) I 3
d) 2,3,43M¢ (c) <hael 23 3
(d 1,231 3
CYRF-F-TXLI| (16-A)
e
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33. In the Indian context, what is the implication
of ratifying the ‘Additional Protocol’ with the
‘International  Atomic  Energy  Agency
(IAEA) ?

(a) The civilian nuclear reactors come
under IAEA safeguards.

(b) The military nuclear installations come
under the inspection of JAEA.

(¢) The country will have the privilege to
buy uranium from the Nuclear
Suppliers Group (NSG).

(d) The country automatically becomes a
member of the NSG.

84. Consider the following countries :

<

1.  Australia é\ﬂm@

2. Canada @% \\___9

3 C?nf\\@x\

&
X |
4 India

5 Japan

6. USA

Which of the above are among the ‘free-trade

partners’ of ASEAN ?

(a) 1,2, 4and 5

(b) 3,4,5and6

() 1,8,4and5

(d) 2,3,4and6

CYRF-F-TXLI

(17

35.

o

@

-A)

With reference to the ‘Global Alliance for
Climate-Smart Agriculture (GACSA), which
of the following statements is/are correct ?

1 GACSA is an oulcome of the Climate
Summit held in Paris in 2015.

2. Membership of GACSA does‘ not create
any binding obligations.

3. India was instrumental in the creation
of GACSA.

Select the correct answer using the code given
below :

(a) 1and3only

(b) 2 only -
(¢) 2and 3 only \ m
(d) o

a\zri’ii@\“

Whigh of the following is/are the nim/aims of

“Digital India” Plan of the Government of

India ?

1. Formation of India’s own
companies like China did.

2 Establish a policy framework to
encourage  overseas multinational
corporations that collect Big Data to
build their large data centres within our
national geographical boundaries.

Internet

3.  Connect many of our villages to the
Internet and bring Wi-Fi to many of our
schools, public places and major tourist
centres.

Select the correct answer using the code given
below :

(a) 1and2only

(b)  3only
(¢)  2and 3only
(d) 1,2and3
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87. Freafefea 3w w fomm Aifvw 40. fafy it =nefian % 9 @ad sygw waw =,

gaﬁ-anﬁm?m}‘ QT frafafaa § 8 = sfafafem sm@m 2 2
A (@) af fafiral sifirs Bt & @1 wneftar @
1. e — i Bt B |
2. T —  ww (b) Afe fafty = & & wanefivan off 7 2 |
3. Hge — el (c) Afg wmefimanr R @ fafu.fwior smar =
4. WRTIEE  —  ETRE FEA E |
I gl § @ B ) gk § 0 @ ﬁtﬁfmﬁﬂ%? dlal @ d ag
(a) 13iR2 .
: laﬂt, 41. Prefafee sedi w fmm fifg .
(b) 13K 4 1. fFf 59 ¥ Tae % Reg s
(¢) 233 q_ami?qﬁsé'mqﬁﬁm:mmﬁﬁé
@ 33y gifes Friard wftea =i 6 st |
R ?ﬁ@ﬁmmmﬁwﬁw:nm‘ 3N
smﬁ“iqz:ﬁf‘
38. WRHE wrEm ifufem, 1935 F grr wenfig g9 ol e
4 srafire witrt g @ mé of o ‘@Fﬁﬁ%&
(a) weE faum-nvss = %) CW\K@
(b) TR SR B \“ m gﬁaz
() Wi faurqueea =i )‘&‘\\(; (¢) 13 2gM
(d) Wi =T @\§ (d) T 1,78 2
42. Fafrg fem “quil-avl” form dieht =1 8 2
- @T{ (a) ﬁ‘-ﬁ‘éﬁ
w-n 1/l awa,aﬁﬁmm (b) T S
FIhT T TE e 2w § @ S g i
freh @t TmAt | (¢) &g deh
2. @ F faum ww = feea fe s @ ) fRwrTe Heft
jmfﬁ‘ﬁﬂm“ﬁﬁwﬁ?ﬁmm ST S S S
T ufen febm (dwaued.) w=n g
S9gad el H A el-ard ad 28 2 ?:ﬁﬂg Eﬁmu(gi‘lﬂf{q@)?ﬂnéz
::; ml (b) R 1 =i formge-ufatdh wrimy
o lm;ﬁ (0) srifeh Framger. it womeh
-
. " . e s
@ Fd@ 1,382 ' - meﬂmwﬁmaﬁaﬁa@zm
CYRF-F-TXLI (18-A)
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37.

Consider the following pairs : -
Towns sometimes Country
mentioned in news

1. Aleppo —  Syria

2. Kirkuk — Yemen

3.  Mosul —  Palestine

4.  Mazar-i-sharif —  Afghanistan

Which of the pairs given above are correctly
matched ?

40.

41.

oN

42.

43.

(a) land?2

(b) land4

(¢) 2and3

(d) 3and4

38. In the Federation established by The

Government of India Act of 1935, residuary

powers were given to the

(a) Federal Legislature

(b) Governor General

(¢) Provincial Legislature ( 2

(d) Provincial Governors l&

39. Consider Lhe"’follmﬂX\utcme
(The Sp\caker of the Legislative
Assembly shall vacate hlsfhcr office if
he/she ceases to be a member of the
Assembly.

2.  Whenever the Legislative Assembly is
dissolved, the Speaker shall vacate
his/her office immediately.

Which of 'the statements given above is/are

correct ?

(a) 1only

(b) 2only

(¢) Bothland?2

(d) Neither 1 nor 2

CYRF-F-TXLI

(19

w3

Which one of the following reflects the most
appropriate relationship between law and
liberty ?

(a) If there are more laws, there is less
liberty.

(b) Ifthere are no laws, there is no liberty.

(¢) If there is liberty, laws have to be made
by the people.

(d) If laws are changed too often, liberty is

in danger.

Consider the following statements :

1. No criminal proceedings shall be
instituted against the Governor of a State
in any court during his term of office.

2. The emoluments and allowances of the
Governor of a State, shall not be
diminished during his terin uf'aku.t.

- Which of the hLaLNﬁ-\EJ\ ogl\\\.n above is/are

correr.-t.c‘?

. (a{:;
b nnly

(e) Both 1 and 2
(d) Neither 1 nor 2

The well-known
belongs to the

painting “Bani Thani”

(a)  Bundi school

(b)  Jaipur school

(¢} Kangra school

(d) Kishangarh school

What is “Terminal High Altitude Area

Defense (THAAD)”, sometimes seen in the
news ?

(a) An Israeli radar system

(b) India’s indigenous anti-missile
programime

(¢) An American anti-missile system

(d) A defence collaboration between Japan

and South Korea
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44. W % Fieplos sfow b v, Frafafea |46, Frafofaa i @ SR o s de @ (dme
HyA W faem Fifsw | det Tl) & 31 w1 A aftfa w2 2
i Wiﬁlﬁwmwmzﬁ (a) =mEcE i ffes e § fog $w F
wfa % wfw fia 8 | M H S gz & et @
2. TIURIE F 3 A W B gor fomar | (b) W8 HZ Wl FE TURE I9A TE] &
3. 3EmEE N ATRS B9EE § | e 8wl e % foe aner g @
4. IEMEE i wTEE dEE 6wl F (@ 3%, gie, fafwy fedl, sf} % = &
ufw fiq & | had
ST Foi § A FAA T 7 (d) forelt 3o 5 < & uig T
(a) <haei 1 33
o Roweraolic 4 47. A TEHER g FE @ A B OAEs
IUAY HUS F B, Al °
(© 1,233 \(\
ﬁm
@) 2,334 (u] W(S\
db) U 1 S R |
M\ G)\I\ %4 ﬁzﬁ*qavmaﬁwaamma"ﬁﬁﬁ
' qrell SHa1 &1 Iaia
5. Frein 3 forgh, Ry “,\,\@%@, SRy
= — \\\/\%Kg (d) fawey s @ IR F I T wEA
ATy b
A \ w1 Fafa L &z s 8
fedio=
2. fafy & aua gua . o
48. a7 A arﬁﬁamﬁm(mp?ﬁq@
3. TR & 9fd sH-Imefem i famm 1 S @t = da 7@ W,
4. a1 3 A sfter afe
Fi2 fau M g %1 wEim W= T T g (a) e Idme FfY I & myay
(a) Hael 1 397 3 W Pty )
o e i s (b) ﬁf?mmaﬁﬁrﬁmméﬁmam
) TR fara w A 2 1
(c) aa 1,2 3 4 - o s
() e iR Smd 5 gfy @ )
(d) 1,2, 334
| @) Fafdi F smen s a5h & 9w § )
CYRF-F-TXLI (20-A) '
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44. With reference to cultural history of India, | 46.
~consider the following statements :

1. Most of the  Tyagaraja Kritis are
devotional songs in praise of Lord
Krishna.

2 Tyagaraja created several new ragas.

3. Annamacharya and Tyagaraja are
contemporaries,

4. Annamacharya kirtanas are devotional
songs in praise of Lord Venkateshwara.

Which of the statements given above are

correct ?

(n) 1and 3only

(b) 2and4only 47.

(¢) 1,2and3

(d 2,3and4

eN
45, © Which of the foll vm&, {'&FJ@X.‘: the
main features Uk\%ﬁiﬂ Layw” ?
(’ té’l g)powors

2. Equality before law

3.  DPeople’s responsibility ~ to the
Government 48,

4, Liberty and civil rights

Select the correct answer using the code given

below :

(n) 1and 3only

(b) 2and 4 only

(¢ 1,2and 4 only

(d) 1,2,3and4

CYRF-F-TXLI (21-A)

Which one of the following statements

correctly describes the meaning of legal

tender money ?

(a) 'The money which is tendered in courts
of law to defray the fee of legal cases

(b) The money which a creditor is under
compulsion to accept in settlement of
his claims

(c) The bank money in the form of cheques,
drafts, bills of exchange, ete.

(d The metallic money in circulation in a

country

If a commodity is providedfree to the public
by the Government, then \ RK

(a) the o po@ tif;\xosms zero.
l')b t‘}lc or}gor a
0 the

the opportunity cost is transferred from
the consumers of the product to the
tax-paying public.

nity cost is ignored.

(d)

the opportunity cost is transferred from
the consumers of the product to the
Government.

Increase in absolute and per capita real GNF
do not connote a higher level of economic
development, if

(a) industrial output fails to keep pace with
agricultural output.

(b)  agricultural output fails to keep pace
with industrial output.

(¢)  poverty and unemployment increase.

(d)  imports grow faster than exports.
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49. ﬁﬁ%ﬁﬁﬂﬁ?ﬁiﬁrﬁl‘q: 52. anfd® dR W, 191 S § wma W anEh
UH HHeGl % w9 § uHa 1A fmin 6 dww WA T T 9ROy o '
=TS IW UGRA % w9 § Hi w2, s
2T (a) mm-ﬁlﬁ%ﬁﬁﬁﬁﬁ&;

1. %ﬁ"dﬂ%w&ﬁﬂfw“ﬁﬁzﬁmm (b) R & T @S HREE f gE
urd 2 | -

2, ﬁﬂ%ﬁﬁ?ﬁ%ﬁﬂ,ﬁ?ﬂﬁﬁﬁ'{ L
g 4 gig & aret | (c) W Ffy F1 arforsfiemor

3. TEL U bl Hdd & 9T B | ; _

4. IR 99 T EEG B UET R | - Sl

I94F FeET § H BE-AVE G 28

o il w4 e 53. R wRa = wenfa w@favm % sgede 356 %

o B aH= 71 IvEfua i ufwdi = fed fom

2 U9 3 Hay § s e 2, @
(¢) 23 4
& 55 (a) ?mﬁﬁumwgmi\mmﬁ
| \
50. 3= g9 arell Ad=gaTaT B9 7w i frg Hww (b) 39 ‘%Wq“‘ﬁ\a%mﬁﬁﬁ'
. : S HEg g1
9GSt fwior wewegdl searg gfg 6 wionfim 757 AN WA 2 Y
S virh o ° %quﬁxwmwﬁqmﬁhﬁl
(a) HHIAR TITE 7 " k\fcs\ﬂ (&' T ¥ sigeae 19 Peifaa & s g
‘_ﬁ
(b) Fremm \ K’ () UgeR 3@ usy A wafm fRat @
(¢) I SHEET T (\@ HEHAT 3 |
LAl
(d) ?Tﬁ@@a
' \ﬁm@ ' 54. Trafefea gwi w frem St

51. |AW W78 % d 8 I & a1, iutEfes -
WEA ZA HE-AVE 397 o wen/fern a0 e . il
1. HTE VT A T g 1. 9YFHid e — dfie g

™™ 2. W%’Tﬁ — HEUR
2. Rl due @ e @ g sioo 3. I el A — e
A1 NI &1 | ;
ﬁ%ﬁqﬂt{@wuﬁmwaﬁmgﬁq; Wéaa'grmnaiﬁh.mmqg;w 239
(a) a1 (@) e 1
(b) Haa 2 (b) 132
(¢) 13W 28Mi (¢) *ad 3
(d) Fd@ 1,982 (@ oalie
3
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49. Consider the following statements : 52.
Human capital formation as a concept is
better explained in terms of a process which
enables
5 3 individuals of a country to accumulate

more capital.

2.  increasing the knowledge, skill levels
and capacities of the people of the
country.

3. accumulation of tangible wealth.

4. accumulation of intangible wealth.

Which of the statements given above is/are |

correct ? 53.

(a) land2

(b) 2only

(¢) 2and4

(d) 1,3and4

50. Despite being a high saving economy, capital
formation may no! result in significant
increase in output duec to
(a) weak administrative machiner_v\ @

(b) illiteracy i(\

(¢)  high popul iu —{ e@\ty

(d) ég\uaén@u pxl. Fitio

51. Mi\g the Santhal Uprising subsided, what | 54.
was/were the measure/measures taken by the
colonial government, ?

1. The territories called ‘Santhal
Paraganas’ were created.

2; It became illegal for a Santhal to
transfer land to a non-Santhal.

Select the correct answer using the code given

below :

(a) 1lonly

(b) 2 only

(¢) DBothland?2

(d)  Neither 1 nor 2

CYRF-F-TXLI (23-A)

Economically, one of the results of the British
rule in India in the 19" century was the

(a) increase in the export of Indian
handicrafts

(b)  growth in the number of Indian owned
factories

(e) commercialization of Indian agriculture

(d) rapid increase in the urban population

If the President of India exercises his power
Article 356 of the
Constitution in respect of a particular State,
then

(a)

as provided under

the Assembly of the State is

automancallvdlssolvec* @
he Legu-la ure of that

(b) the pow
State h@ ekerdisable by or under
%L e 1u 10rily of the Parliament.

\‘l \{c Article 19 is suspended in that State,

the President can make laws relating to
that State.

Consider the following pairs :

Craft Heritage of
1.  Puthukkulishawls — Tamil Nadu
2. Sujni embroidery — Maharashtra
3.  Uppada Jamdani saris — Kurnutuka

Which of the pairs given above is/are correct ?

(a) 1only
(b) land2
(c) 3only
(d 2and3
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55. Gpsammzqzﬁnﬁnf%rﬁaaﬁuﬁﬂﬁm

58.

2. Ef y=TeH

3. uiar =t & famor

44 fow ™ g w1 w@m W ad IR g

(a) e 1

(b) A 2 3R 3

(¢) Faa 137 3

(d) 1,233

6. fmafafes Heudi w e fifu

1. A fod o, wia wer 6 sfgf
wmmaﬂtmm%ﬁ@fﬁwﬁ
=3 AR 31 wfayfadi w1 38 | 59

2, mmm-ﬁ@aﬁﬁa)mﬁm
? 3R T WHER FE FO-TT S T
Hl |

3. a?mmanmmmuﬁ@ragzqtam
fopu wma €

I T H F FREA T A

(a) I 1 i 2 \“

(b) Faw 3 X\QB

() had 230 3 AK,

(d) 1234173 k\@

57.

ﬁ“ﬁ@“

g&ﬁﬁﬁﬁzﬁamagﬁm‘lmm
" I5HEA B3 R |

- g@ﬁﬂMO@ﬁ%mﬁétﬁmfﬁ
9EE adl, dl AT 540 off 3t wmEn
ST3eTaNTSE TE i |

3. w4 ofifaq g G BU, IEH g %
i aTgaves # Aeet R | ’

mmﬂuaﬁqmmﬂ'@%/%?

(a) =g«

(b) Hae 230 3

(c) éﬁﬂﬁlﬁﬂ:ﬁ

(d) 1,231 3

CYRF-F-TXLI (24-A)
| ——— =S

GRS, YeA 3 3ide 92 W1 g d A
aureri 4 3fghaa 9, fafafes § 3 oo
WY Hefud § 2

(a) UFHIECE

(b) w=z4 gz (Frementat)

(c) TIZAT ITHHY

(d) @Y IR

urdla Ff § R F ded 3 “Gem
PN EhewH W HEE A W R |
mnamﬁqamﬂsﬁ@%m

mg?° °&\ Ol -

Fi4 TEad @1 9fER
\ =9 FId Hl ST
3. Ml wEEl A Tl F1 9iER

4. TG 9T H T & T FHA G
w1 39

o

e 20 T 2 % wim W= wd sw gh

(@ 1,3 3R 4
2,3, 4 30 5
2,430 5

1.2,331 5

(h)

(c)

(d)
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55. In which of the following areas can GPS |58 The terms ‘WannaCry, Petya and

" Y . .
technology be used ? EternalBlue’ sometimes mentioned in the

1. Mobile phone operations
. news recently are related to
2. Banking operations
3.  Controlling the power grids (a) Exoplanets
Select the correct answer using the code given
below : (b)  Cryptocurrency
(a) 1only
(b) 2and 3 only (¢) Cyber attacks
(c) 1and3only
(d 1,2and3 (d)  Mini satellites

'56. Consider the following statements :

1. The Reserve Bank of India manages and

services Government of India Securities . < x .
but not any State Government 59. With reference to the circumstances in Indian

Securities, agriculture, the concept of “Conservation

2. Treasury bills are issued by the Agriculture” assumes a;gmﬂgance Which of

Government of India and there are no
treasury bills issued by the State the following fall under tI nservation
Governments. Agnculture@ - @
. 8. Treasury bills offer are issued at a x
discount from the par value. %\v iding the monoculture pracnces

Which of the statements given above is/are X
correct ?

Adopting minimum tillage

(a) 1and 2only “‘;‘m

(b) 3only e k 3.  Avoiding the cultivation of plantation
(¢) 2and3 nl@\m crops

@ J.2% a.nd.

\d 4.  Using crop residues to cover soil surface
57. Consuder Tw following statements :

1. The Earth’s magnetic field has reversed b. Adopting spatial and temporal crop
every few hundred thousand years. ; :
sequencing/crop rotations
2, When the Earth was created more than
4000 million years ago, there was 54%

§ Select the correct answer using the code given
oxygen and no carbon dioxide.

3. When living organisms originated, they Bl

modified the early atmosphere of the

Easth. d P (@ 1,3and4
Which of the statements given above is/are = =
"y (b) 2,3, 4and5

(a) 1only

(b)  2and 3 only
(¢) 1and3only
d 1,2and3

(¢) 2,4and5

(d) . 1,2,3and5

CYRF-F-TXLI (25-A)
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“@a1 =uw faey /oe e I' wee frad
fadrer % dod # ol # W Sfyfaa
??

60.

(a) fova % sga & vl § v 4 =29 w9 §
THYR FHY gyl R g8 @ W
qififsas HfY & Wy @WrE & ifadh
WM % gfviresy e 3 qifes @
' |

(b) ImEa Wiy # gefi & @y Ieewfivg

wwfaa ot =1 W4, @1 6 65 fafemm

99 gget gan o1 3 fms v gHEn

1 Sfaal q9G 3 Aifadi w1 s w9

q faeima &1 mn

ﬁmamm W“\ﬁ\@
v‘éﬁ 3 fava &

\f\i—%ﬁ)n I WAl W ow@En g,

FRU =W I FHA yredi @i
foei 21w # @i @ Ja-fafaga £
B 81 TRl 2 |

(c)

(d) wFe g1 urpfas w@EeEl @
éﬁﬂmm,mﬁﬁamﬁm,maﬁ{
AfFas werary aied |

CYRF-F-TXLI

61.

WA arfig-aerer 39z uirel) (3feaa Qe

Afemem #eemse fawem /IRNSS) ¥ wed #,

Fr=fafaa su=i w famm Hifso .

1. IRNSS % geasmel (Tmamymd) sansdi
i da 3mr € e sgerweh
(Frnfasmra) wansii § =ar IR € |

2. IRNSS @i =qifta @equl wra w1 3 g
Hmisii & e 5500 @ fEdt TR T
R

3. 2019 % Wed d% WWA Hl, QUi AfVaw
=ifta & @Y 39 Iy WETe wonen
gt |

sqﬁwmaﬁﬁﬁaﬁa-mfénﬁ%fév

(a) Eﬁaﬁl m
(b) i’h‘c{ﬂlam2 (\

Nia

62.

(26 -

A)

et aheensti w faar fifho .

1. W, TR R yWifad &rar 8

2. RS AR el W8 |

3. Y o W AR F fgewre w1 Rt
(amd) e 2 )

I H & Tewd e F e

au= fagm wrs wfaemse SRmA 24,

Fmehl/ o wa: aaram mrondi 3 fad=mn 2
27

(a) W]C‘rﬂl2
(b) a3

(¢) aet 137 3
(d) 1,233
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e - W T 61. With reference to the Indian Regional
B0 Tie ok sk - wGeS sciocs Navigation  Satellite System (IRNSS),
extinction” is often mentioned in the news in consider the following statements :
the context of the discussion of 1. IRNSS has three satellites in
geostationary and four satellites in
(a) Widespread monoculture practices in geosynchronous orbits.
agriculture and large-scale commercial 2. IRNSS covers entire India and about
farming with indiscriminate use of 5500 sq. km beyond its borders.
chemicals in many parts of the world 3. India will have its own satellite
that may result in the loss of good navigation system with full global
i coverage by the middle of 2019.
native ecosystems.
Which of the statements given above is/are
! 9
(b) Fears.of a possible collision of a S
meteorite with the Earth in the near (a)  1only o
future in the manner it happened (b) 1and2only \ (\
65 million years ago that caused the "andl\ @@
mass extinction of many species %
including those of dinosaurs. \“ \
G
(¢) Large scale Qcﬁl b\:q‘n f gonétically | 62. Consider the following phenomena :
mu;l;{‘luﬁc in ‘many parts of the 1. Light is affected by gravity.
WO ,d\a:g promoting their cultivation in 2, The Universe is constantly expanding.
other parts of the world which may 3. Matter warps its surrounding
cause the disappearance of good native space-time.
crop plants and the loss of food Which of the above is/are the
biodiversity. prediction/predictions of Albert Einstein’s
General Theory of Relativity, often discussed
(d) Mankind's over-exploitation/misuse of in media ?
natural resources, fragmentation/loss of (a) 1and2only
natural  habitats, destruction of (b) 3only
ecosystems, pollution and global climate (¢) 1and3only
h :
—_—— (d 1,2and3
CYRF-F-TXLI (27-A)
.

RaadheytheVisiion | | Contact us: - +91962575753; +918889907405

mailto:mentorship@raadheythevisiion.in

raadheythevisiion.in

Mukherjee Nagar, North West, Delhi-110009



mailto:mentorship@raadheythevisiion.in
raadheythevisiion.in

63. wRd H foffm rgEfiera: w9iia o

(Sfeerett wifewrzs ol /GM ww@l) & Fed

H, fr=fafaa saEi w faear Hife .

1. GM 8@ § ygr S & 7 g & S
drgeh-ufeiia =1 o1 29 & |

2. GM 9 ¥ g 99 ¥4 & 9 ey §
QLYATU] 3R HBW Tl G T4 7 |

3. GM 8@l F @ 1ARI 3R o FiY

65.

fafafas woFl # & |Rm S fea?

(rd= wiéemgsizm) i gdion aftia s 2 2

() IATINUSH H FET SIAFES H ad gl

(b) FGAUSH H FreA SrgHiamge hl 9l g
QIZdl & FU Yl F1 a1 g7 araHH

() dHUSH H Hed SRS H A wl
m?miﬁqrwnmwmnﬁaé’rgé
ITEE

(d) TFHUEH H FEA SEATEEe H A gl
mm?mmmqﬁmﬁiﬁaﬁm

farvaferamers zro sy =9 @ fn mn § | g afl Sl & sigegem
ST o & 3 P wh 4 66. <@ Y98 HYb W BH HI Fem a@wal 2, a
(a) ad 13N 3 Y 33 A4 8 3T 3 @i ¥ FE F fau 3|
N Uyl gd 2 o ammen s T T
e %lmmn@n fﬁa\ \ 3 v
(© aw 233 WW?W Waﬁnm:ﬁmm
() 1,233 mﬁa&m qja‘ammmm%q
- ' \q? a $ fBud-dHH Reblet dd 2,
i @\“ T el amE 4§ aé @l 9 9" o 2
‘k, 3R a fRamEl 6 9 & e w2
64. ﬁm%@a@mw@zﬁﬁu\\ﬁ AR WA W W Y AR heH T@d § 3R
T b \Kv'fzsi:%w A W aren @ #, @9 aft afad, 9a,
\C@ W iR iR v, uefid =a; 9¢ 7 = 8 | T
FEEE B T W, AThH BT W H arel
1. o9 11 9m — W gfg Frarrd H1 i & GR H 9w Sare ol 8
o s B _ I Iwfeus TR w1 gHE Zd R, o af
TR — RREARE | e e dow & R X A WA, A
3. CRISPR-Cas9 — v wifeeh IHF HATER 96 e § 529 U9 21 2 |

s i B & A g 2
(a) <hae 1303

(b) Haw 2

(c) e 23R 3

(d 1,233

ﬁmﬁﬁiﬁzﬁﬁgm wrEnfifeRdl % aey i,
I itgwa & fou frefeafas § § #Fa 12
T 394 ®Y Y AN AT R 2

(a) ®$LiIed dRIFTe

(b) TR AW firg

L N

(c) TR UIRIHIA
(d) - T T Feadh

CYRF-F-TXLI (28-A)
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63. With reference to the Genetically Modified
mustard (GM mustard) developed in India,
consider the following statements :

1.  GM mustard has the genes of a soil
bacterium that give the plant the
property of pest-resistance to a wide
variety of pests.

2. GM mustard has the genes that allow
the plant cross-pollination and
hybridization.

3. GM mustard has been developed jointly
by the IARI and Punjab Agricultural
University.

Which of the statements given above is/are

corréct ?

(a) 1land3only

(b) Z2only

(c) 2and3only

(d 1,2and3

64. Consider the following pairs : ym@

Terms wmeﬁm @ n tc.l.tf Topic
seen uwmm 3

1. (B@II\() Artificial
experiment Intelligence

2 Blockchain — Digital/
technology Cryptocurrency

3. CRISPR - Cas9 — Particle

Physics

Which of the pairs given above is/are correctly

matched ?

(a) 1and3only

(b) 2only

(¢) 2and 3only

(d 1,2and3

CYRF-F-TXLI (29 -

66.

A)

Which of the following statements Dbest

describes “carbon fertilization” ?

(a) Increased plant growth due to increased
concentration of carbon dioxide in the
atmosphere

(b) Increased temperature of Earth due to
increased  concentration of  carbon
dioxide in the atmosphere

(¢) Increased acidity of oceans as a result of
increased  concentiration of carbon
dioxide in the atmosphere

(d) Adaptation of all living beings on Earth

to the climate change brought about by
the increased concentration of carbon
dioxide in the atmosphere

When the alarm of your smar tplmne rings in

the morning, you wake up "\I'ld p it to stop

the alarm 'Whlt.h t\
1

u-. )()ll -«('r to be

switchetl on n.u [ I\oThe smart mirror

©in Elvnur\alh oom) shows the day’'s weather

ndicates the level of water in your

11
\“ -erhead tank. After you take some groceries

from your refrigerator for making breakfast, it
recognises the shortage of stock in it and
places an order for the supply of fresh grocery
items. When you step out of your house and
lock the door, all lights, fans, geysers and AC
machines get switched off automatically. On
your way to office, your car warns you about
traffic congestion ahead and suggests an
alternative route, and if you are late for a
meeting, it sends a message to your office
accordingly.

In the context of emerging communication
technologies, which one of the following terms
best applies to the above scenario ?

(a) Border Gateway Protocol

(b) Internet of Things
(e) Internet Protocol
(d) Virtual Private Network
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67. WG H HR i Ieqred F v H, A9 Ru g | 70, el § & S 1048 7 wife ‘e we
FHeHl W o= fifs T’ F TEIE & 2
1. YA Y9l-dicdd SEdl 3 wEm § W @ #. For figd, o, TERiur ik
art faferia awd &1 gfan # e el .. =
- ) ik (b) SESHE ARE, 9 TEE INeAR 3k
2. ®R Tt Yo w1 fuRv wrdE @ .. g
W?Tﬁm@%l () H.91. tarEnfi TR, %, FWUS iR
I HeEl § § BH-AVA g8 B8 2 HRufénm gy
(a) a1 (d) 3 Fgal, d.uE. THEew AR S,
(b) Faw 2 g
(¢) 13R 22Mi :
@ TALIN2 71. WWQ Hi €ififs vaed F vl # “cymeard”
qryErd %1 gay g R 2
68. 184 wiAEd % WeA 3few S 3o et % @ g W o\\f\
TN aTE A e v g (S (b) HH o (\0
EI-THT%E."’T‘T)W?I‘? O(C)ﬁq%@
(@ it wymE, fieds ok srdm \“ %)
(b) iﬁﬁmmaﬁtﬁm “:ﬁ‘m@
(c) wram, |, \\ 72. WA % Wiepiae e % g A, Prafafan
@ —WQ\W\@ S FoAi W faan SAif
1. SaeR Hed @ geg g@mn au
69. ﬁmaﬁaaqazm—m@ammmw @;Wmﬁmnaﬁamwm
ifd el e R 2 g
(@ UfE widem § few W @ ow 2. wETS fru w9 gmeETel i g
sfarmieli, faafii st wheensi % fmin i ee-agen wer o s
G g T SN g2 T |
b) WE FEeH A W@ F R sl G FeEi H F B g 28 2
: gara 1 e wrfiard (a) *ad 1
(© wzwgmmumnmm e
@ 90 el @ iR e i dd (© 13 23
Tt firrae - (d TFd@1,3d2
CYRF-F-TXLI (30-A)
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67. With reference to solar power production in | 70.

India, consider the following statements :

1. India is the third largest in the world in
the manufacture of silicon wafers used
in photovoltaic units,

B The solar power tariffs are determined
by the Solar Energy Corporation of
India.

Which of the statements given above is/are

correct ?

(a) 1only

(b) 2only

(c) Bothland?2

(d) Neither 1 nor 2 71.

68. The staple commodities of export by the

English East India Company from Bengal in

the middle of the 18 century were

(a) Raw cotton, oil-seeds and opsum \

(b)  Sugar, salt, zinc and lead k\(a

(¢) Copper, silver, gol Qld\e

(d) Cotton gtlk sal p\?tmh’ﬁopmm 72.

69. Which one of the following is a very
significant  aspect of the Champaran

Satyagraha ?

(a)  Active all-India participation of lawyers,
students and women in the National
Movement

(b)  Active involvement of Dalit and Tribal
communities of India in the National
Movement

()  Joining of peasant unrest to India’s
National Movement

(d) Drastic decrease in the cultivation of
plantation crops and commercial crops

CYRF-F-TXLI (31-A)

Who among the following were the founders of
the “Hind Mazdoor Sabha” established in
1948 ?

(a) B. Krishna Pillai, E.M.S.
Namboodiripad and K.C. George

(b) Jayaprakash Narayan, Deen Dayal
Upadhyay and M.N. Roy

(¢) C.P. Ramaswamy lyer, K. Knmaraj and
Veeresalingam Pantulu

(d) Ashok Mehta, T.S. Ramanujam and

G.G. Mehta

With reference to the religious practices in
India, the “Sthanakvasi” sect belong\ln

(a) Buddhism \
(b) Jui’m‘;n'\ @@ ®
Va&m.n sm

“Shaivism

With reference to the cultural history of India,

consider the following statements :

L White marble was used in making
Buland Darwaza and Khankah at
Fatehpur Sikri.

2. Red sandstone and marble were used in

making Bara Imambara and Rumi
Darwaza at Lucknow,

Which of the statements given above is/are
correct ?

(a) 1only

(b)  2only

(¢) Both1land?2
(d) Neither 1 nor 2
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73, Freiefaa faeeh ol § & fead w3 &g | 76 Prefafes 4 @ fema/fem s 3 o fren
afre #it 1wl i e w9 & 9=t 6 2 A

. 1. 1813 %I 91 e
(@) v 9. T T AH Ul g, 1823
(b i-dfew daffa 3. Wredfag Ud efag e
G aE ﬁﬁqw@)mmmaﬁmgﬁt{:
(a) “hae 1 3R 2
(d) UF TACHH F (b) Fae 2
(¢) <haed 131 3
d 1,231 3
74. WRdME sfaR@ & w=ey d, frefefes § @ €9 ;
= i N N 77. Frafafea § & $9f o Fhm e R 2
"l g3 B, S TAN I 1@ ®q Eaa anl ?
(a) mma(aﬁamg)o
(a) HAaAlRATaT b FEE (g T (\
i .\
(b) kTR o g

(¢) T %Wﬂ
(d e\g.\srmnﬁmaﬁmmmmﬁ
eyt

\<\ Frafafes s w f=r $ifsw -
@ 1. 98 oW Ug UATR NI/ 6 Ty =him
2

75.haré\é'vﬁ1 20 0] 6 TS WEES HiY oFawy 2. ¥R, HF I % WA, G f@pd

% an 7 fafafaa § § |- F93 an) 7877 Junghd, fadfm ot fefiee meman 8§ o
et 2 uf¥iem I9erey wHaw |

o . 3. W ou % fafEfm wREw 6
(@) THIH TS T UH T H T T FrRIFUEAI H TP B draa g
(b) W@ HI AUIfTHA & @t § gifera w@ %ﬁm e 1%

(@) FH F o vw fra om = oy I HEE H Y FA-A/A T A 2

e (a) <ad 13T 3
tdaﬂmmmmﬁﬁmuamm (b) e 2
ToTE HE (c) ad 233
(d 1,233
CYRF-F-TXLI ' (32-A)
.
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73. Which one of the following foreign travellers | 76. Which of the following led to the introduction
elaborately discussed about diamonds and of English Education in India ?
diamond mines of India ? 1. Charter Act of 1813
. . 2. General Committee of Public Instruction,
(a) Francois Bernier
1823
(b) Jean-Baptiste Tavernier 3. Orientalist and Anglicist Controversy
Select the correct answer using the code given
(c) Jean de Thevenot below :
(d)  Abbe Barthelemy Carre e SR
(b) 2only
(¢) 1and3only
(d 1,2and3
74. With reference to Indian history, who among
the following is a future Buddha, yet to come | 77.  Which one of the following is an artificial
to save the world ? lake ? °
) (a) Kodaikanal (Tamil Nadﬁg
(a) Avalokiteshvara (b) KO]]E)B.I (A%Qi%\ﬂ;\? '\ra%esh
B Tokeiien © h%init (Gttarakhand)
o
d) enuka tHimachal Pradesh)
(¢) Maitreya \Bﬂ
L= ;
(@ Padmapani Mm@ p78.  With reference to Pradhan Mantri Kaushal
k Vikas Yojana, consider the following
‘\m@ statements :
e ﬁh\Q ' 1. Itisthe flagship scheme of the Ministry
75. Which ore/of the following statements does of Labour and Employment.
not apply to the system of Subsidiary Alliance 2. It, among other things, will also impart
introduced by Lord Wellesley ? training in soft skills, entrepreneurship,
financial and digital literacy.
(@ To In'a:ntam a large standing army at 3. It aims to align the competencies of the
other’s expense unregulated workforce of the country to
th Nation: i i i
(b) To keep India safe from Napoleonic © stional - Skill - Qualification
Framework.
danger )
| Which of the statements given above is/are
() To secure a fixed income for the correct ?
Company (a) 1and3only
) (b ,
(d) To establish British paramountcy over .
the Indian States (©)  2and 3 only
(d 1,2and3
CYRF-F-TXLI (33-A)
e
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79. 1920 W, Prefefas § 4 e sgm am | go ot gzsii % @ #, Frefefiad s w

f@fifa w “wrrea aw” w@ fomn 2 e i

(w) et gfeen #im wt o 1. ye1 8w g @ 3= s gl 9
(b) f&=g memm . YTV &7l I YA ¥ ° FA L |
(¢ H13Y §ferm foare Hwem 2. Tuw Wk A g hl i g Ad el
@ T adeE e i SaEmd 2

3. P wEEy ok G Fo Ff giei %

Sauitged 8§ ANEE R Fwdl 2 |
80. fr=fafiga § | wl gen aed vga g 2

IR FHUA H W BAAA TE B 2
(a) TETHI gFE A 3 wHrS ol w4 i | i i ees
(b) EFEy i 3 Fogyr @1 e@A foan | (b Fae 3
(c) AfFY I3 FENAR A FHFHS T A@A (¢) hae 13 3 \(\
e 1

(d) "Iz & sfeam fafae afda afien § “\Q\“
mqﬁmmmml \“\%

‘L 83. @@ deyarwr w wraE & fau yriled
81. Tr=fafea n :r"'i agd i (fesid.), sl shapa 2| @ s st
T’T i"mgz: grm%m«*nﬁ guash sefeyaen f IR FW F dwEw d
HeEal oA % fou 93w mg i vw Genfafy 2,
1. 78 i eEvr § Fi anfena
2. WIAwE 1 4guw (a) SEmE ° 2002 % HSunvim fasm F
3. WM FOER H1 AR T9d S yezf} forar-awren
Fr= o e w1 wEm woad s gfi (b) T 2 S0 A 2012 % Funoiia fasm w
(a) ae 1 Y Y A H
(00 uft\ d 2015 # Feary gfEds @ d@gw U
(h) hae 2 3 3 ) ﬁmaz‘ﬁﬁ;?fi .
() a1 30 3 ) T B #2016 ¥ fava @umoim fwm
(d 1,233 forer i
. CYRF-F-TXLI (34-A)
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79.

In 1920, which of the following changed its
name to “Swarajya Sabha” ?

(a)  All India Home Rule League

(b) Hindu Mahasabha
((5) South Indian Liberal Federation
(d) The Servants of India Society

82.

\M

80. Which among the following events happened
earliest ?
(a) Swami Dayanand established Arya
Samaj.
(b) Dinabandhu Mltra wrote Neeldarpan.
(¢)  Bankim Chandra Chattopadhyay wrote
Anandmath.
(d) Satyendranath Tagore became the first
Indian to succeed in the Indian Civi
Services Examination. fk\
@%x 83.
81. Whicl aF‘t.h ing 15/.11[. the possible
L{m‘-}!qucl@}‘- of heavy sand mining in
rwerbeds ?
1. Decreased salinity in the river
2. Pollution of groundwater
3. Lowering of the water-table
Select the correct answer using the code given
below :
(@) 1lonly
(b) 2 and 3 only
(¢)  1and3only
(d 1,2and3
CYRF-F-TXLI (35-A)
[ =

. (a)

With reference to agricultural soils, consider

the following statements :

1. A high content of organic matter in soil
drastically reduces its water holding

capacity.

1S

Soil does not play any role in the sulphur
cycle.

3. Irrigation over a period of time ecan
contribute to the salinization of some

agricultural lands.

Which of the statements given above is/are

correct ?
(a) 1and2only ¢ @
(b) 3 only \

Y \%

The Partnership for Action on Green Economy
(PAGE), a UN mechanism to assist countries
transition towards greener and more inclusive

economies, emerged at

The Earth Summit on Sustainable
Development 2002, Johannesburg

(b)  The United Nations Conference on

Sustainable 2012,

Development
Rio de Janeiro
The

Convention on Climate Change 2015,

(c) United Nations Framework

Paris

(d) The World Sustainable Development

Summit 2016, New Delhi
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84. “3D gzu” @ Frafafiaa # | feedl wam € | 86,  Wwifew Fefiven A WY WHA: T BHTERI

?? 7 3fgiaa g1 g »

1. e oy <t = A (a) EH R 1 oN9H w9 ¥ waivH Al
2. Aagqagitehl F9i % fFmio F H 3l Bl R |

3, e i ] () Fom & ¥z I @ @@l H Se-fafaua
4. yEARmiEE weawd § F FH FO AR |

5.z (&) sEum Wenfifea | g - e
fra fu e e =1 wEm W Ed e i FE——

(a) %Had 1,330 4

(d) I | | i T
(b) had 2,335

(¢) hae 13 4

() ‘1,2, 3,4 3 5 e i : W@W ﬁoﬁ“&\q\
° 1. T%{g% \vﬁ waifus  wae  fufwi
85. fr=ifeifad sl w faum Hifdw . \“ \ st s e

_ A
SR S 2. fava ) ot B s e ffe
EIEITIERIETET TN o

(\\\ ....-\E : o-\\ﬁc Qﬁ'{ E ﬂﬂ 'EF
_}\@;@ﬁm%m 140 fofi & Ts-&i 0 fTaa £ o
| g - . <
& 3. JIWrRfCEY™ €l Gl hi U, YdTe
3. fod ar 46 v saamE § 1991 # fuftl =& wifus den i w9 =491 &
IPMW 3 91 AR dE ® 7@ e = TG el § |
g R | L " ’
= 3T FHUE H H BE-AVA G B2 2
I HU H B REAVE T @ 2 '
i (a) “haei 1 3T 2
(a) =hdd 1 -
_ (b) A 3
(b) 233 i
5 (¢) “hael 133
(c) <hdd 3
s (d) 1,2 33
d 133
CYRF-F-TXLI (36-A)
.
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84. “3D printing” has applications in which of | 86. Why is a plant called Prosopis juliflora often
the following ? mentioned in news ?
1.  Preparation of confectionery items (a) Its extract is widely used in cosmetics.
4 Manufacture of bionic ears (b) It tends to reduce the biodiversity in the
3. Automotive industry area in which it grows.
o Reconstractive sangesies (e) Its extract is used in the synthesis of
5. Data processing technologies Sl
Select the correct answer using the code given
(d) None of the above
below :
(a) 1,3 and 4 only
(b) 2,3 and 5 only
(e) 1and4only &‘
: d follow
@ 123 4and5 87. Consider the fo n\nnﬁ.s\iatem tsyg
l. M, st af t vorld’'s coral reefs are in
Clrupu.al waters.
85. Consider the following statements : \“ \
2 More than one-third of rorld’ ¢
1.  The Barren Island volcanag i: 1@:\\%—' . the world's coral
volcano locall é\m } Indxan terr:torv reefs are located in the territories of
2 aﬁ'!en v.la l\e.-, Shout 145 Y esst of Australia, Indonesia and Philippines.
Grga'Nicubar. 3. Coral reefs host far more number of
3.  The last time the Barren Island voleano animal phyla than those hosted by
erupted was in 1991 and it has tropical rainforests.
remained inactive since then.
Which of the statements given above is/are
Which of the statements given above is/arc
correct ?
correct ?
@) ouly (a) 1and2only
(b) 2and3 (b) 3only
(c) 3only (¢) 1and3only
(d 1land3 (d 1,2and3
CYRF-F-TXLI (37-A)
=
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88.

89.

“Hiien B 99 : FoREe =g 13 T8 9B
foras g wafda & T R 2

(a) FeaTy uftadd W AL e

(b) UNEP ufsae™

(¢) UNFCCC afaama

(@ Tava deufasm gre

wd 4 iufEfEe wma & 2 dafes
Teaisti % g d, Fafafias gmi w fEm
ﬁrﬁm:

21.

T TEITIS
1. SRE H 5 Hice — faferm S
2. el HETH — A afw
3. Wi fafeam siew — Rt st
394w Wi °§ ¥ RE-AUE g8 gatea 22 2
(a) 132
(b) FHaw 2
(¢ 133
(d) a3 ,
\{S \, 92.
90. W@

E'F?a'
1. heriE - Eeie
2. hrHE — Futil
3. fazmman - Rrefrdin
4. SO = Azt
ST P H @ A T gt § 0
(a) 1,23 3
(b) HaA 33N 4
(c) “hael 13K 3
(d) wae2 3R 4

CYRF-F-TXLI (38-A)

\“ °(d)% V:\\

frafefaa gesi w fammr fifse .

1. wE & fd 9 4 wdvam deditae
F9 § T M AUIETE 29 H AR |

2. Y4 @ 3I9 HHY H TEH G A%
‘wiifga 4% o e’ fame am
T MG T2 4% @ T |

3. w3 = wdweww few o ofik uw
YT ag 99 T |

4. TiET AR TG T 37T g9 T |

Fefafaa 4 8 ®=F9 39w gensdl & ad
FTATHA B ?

(a) 4-1-2-3

o
(b) 3-2-1-4 \(\
() 452-9-

@\f\

fraa & sifusr @ Sfaq @ =afwm e
% #iuFR & Amig wm F w9 # w@ila fen
A R | UG % dfaum H Frefafes § §
frod svw %97 ofl v agfem @ & s
B R 2

T3S 14 U9 HfGUW F 429 S F
AUF I9Ey

(a)

(b) 3=3 17 Ta WM IV # fou v=a 1 #fa

% Tz aw=
(c) HT=9g 21 Us W I # 7H& i T
(d) =2 24 Ud wlaum F 443 HO F
AdH IwEy

RaadheytheVisiion | | Contact us: - +91962575753; +918889907405

mailto:mentorship@raadheythevisiion.in

raadheythevisiion.in

Mukherjee Nagar, North West, Delhi-110009



mailto:mentorship@raadheythevisiion.in
raadheythevisiion.in

88. “Momentum for Change : Climate Neutral | 91. Consider the following events :
Now” is an initiative launched by 1. The first democratically elected
(a)  The Intergovernmental Panel on communist party government formed in
Climate Change a State in India.
(b)  The UNEP Secretariat 2 India’s then largest bank, ‘Imperial
(¢)  The UNFCCC Secretariat Bank of India’, was renamed ‘State
(d) The World Meteorological Organization Bank of India’.
; 3. Air India was nationalised and became
89. With reference to educational institutions . .
during. colonial rule in India, consider the this istlonal shwrieg.
following pairs : 4, Goa became a part of independent
Institution Founder S
1. Sanskrit College —  William Which of the following is the correct
at Benaras Jones chronological sequence of the above events ?
2. Calcutta Madarsa  —  Warren
Hastings (a) 4-1-2-5 e (\
3. Fort William — Arthur (b) 3-2-1-4 \
College Wellesley a % _@ o
Which of the pairs given above is/are correct ? o = \1 —YS
(@ 1land2 , \d)%— -8 -4
(b)  Z2only i\ﬁmew
(¢) land3 % ‘k’
(d) 3only @m@ 92. Right to Privacy is protected as an intrinsic
7 ‘a@ _ - part of Right to Life and Personal Liberty.
90.  Con§iderithte following pairs : Which of the following in the Constitution of
Regions sometimes Country India correctly and appropriately imply the
_ mentioned in news "
1. Catalonia — Spain
2. Criitica —  Hungary (a) Article 14 and the provisions under the
3. Eudies - Philipploes 42"4 Amendment to the Constitution
4. Oromia — Nigeria (b) Article 17 and the Directive
Which of the pairs given above are correctly Principles of State Policy in Part IV
matched ?
@ 1,2and3 (¢) Article 21 and the freedoms guaranteed
(b} 3 and4 only e
() 1and3only (d) Article 24 and the provisions under the
(@ 2and 4 only 44" Amendment to the Constitution
CYRF-F-TXLI (39-A)
e
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93. Trfafgs w faem it .

.94.

5.

URA & IR I & are argdl & 8

1, fefafaa s v fa=m $ifs .

1. gl 1. PSLV & 3 3z wiifaa fu @ & &

s gzt % T % AHiRE § 3wEr g,

ol sEf GSLV i §&gd: HUW ITE Hi
" wHifaa w0 % o arfiesfeaa fenm man

3. il 2

4. Tl 2. PSLV 2 Hifed 3908 3™ § U @
) fRufe & varh w9 7 oot A e O 8

5. HWHel o f5 gzl & uw fafe wm a8 @
g Sran B |

. 3. GSLV Mk III, U IR-&S drel J6=-

7. T arga 2, fai weom 3R gl =i § 3w

I | A frh =em wmew gew fr dgon
anfefe well i SR amfa I Hi R 0

(a) ae 1,233 7

(b) el 2,4,5 3R 6

(¢) ael 1,38,4,53M 6 ‘K\@@
e

(d)

frefafea =il 4 & frg & i wgd a=ra
YA afeem R 2

Tehe el & aun g oiv =qd o 4
7 Wehe 51 1 A e R |

I94T HU A | DAV H@C%f?m

(a) T 1 m

\j\ X\ﬂ Jaﬂsz

96.

URd O Graad &3 & el & S & gay

1, Frafefaa s w foer Hifte .

1. Tod zve 4 wie @R U aEehe
&Tﬂ$ﬁﬂﬂt{ﬂ1?ﬁmﬂm

Tegia
2. WEAHS &F F I P gAaEda FA F
fou @ wedm ®e d% F "y IEh

(a) SO SeW gaaril dei w1 faea e 2
ITAF FUA 0 F HE-AVE TE 2/ 2
(b)  Afoge (a) el 1
(c) HerEd b} wAM2
_ (© 1 3R 23
(d) TS (d IdML T2
CYRF-F-TXLI

(40-A)
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93. Consider the following : 95. With reference to India’s satellite launch

vehicles, consider the following statements :

! Areca nut :
. ¢ : 1. PSLVs launch the satellites useful for

9 Barley Earth resources monitoring whereas
GSLVs are designed mainly to launch
3. Coffee communication satellites.

2. Satellites launched by PSLV appear to

. g rmi : Z
‘ Finger millet remain permanently fixed in the same

position in the sky, as viewed from a
particular location on Earth.

6. Sesamum 3. GSLV Mk III is a four-staged launch
vehicle with the first and third stages

5. Groundnut

7. Turmeric using solid rocket motors; and the
second and fourth stages using liquid
rockel engines,

The Cabinet Committee on Economic Affairs Which of the statements given above is/are

has announced the Minimum Support Price correct ? (\

for which of the above ? (a) 1 nnly \

' ‘?ﬁnda @ .

(a) 1,2,3and7only \k

and 2

1
(b) 2,4,5and 6 on]y %on]y
X C
() 1,3,4,5and 6 only @% k’
X\

d) 1,23, 475,

96. With reference to the governance of public
- sector banking in India, consider the following
statements :

(’ _ ' 1. Capital infusion into public sector banks
by the Government of India has steadily
increased in the last decade,

94. In which one of the following States is Pakhui 2. To put the public sector banks in order,
Wildlife Sanctuary located ? the merger of associate banks with the
parent State Bank ol India has been

(a)  Arunachal Pradesh affected.

. Which of the statements given above is/are
(b) Manipur

correct. ?
() Meghalaya (@) 1only
(b)  2only
(d)  Nagaland (c) Both1and?2
(d) Neither 1 nor 2
CYRF-F-TXLI (41-A)
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97'

. Fr=fafea v w famm $ifsm

1. fosee 3at ge s
2. Wifi % UL YHIY 7Y
3. waiva IR fEemmag wach
4. Tosmmm avnft 3w qumEmas

Iw W § ¥ aR-wA hmd. (a9 W
TaT =) F Ata ge wed BE 2

(a) dad 1
(b) Had 23 3
(c) e 1,23 4

d 1,233 4

99.

frafafas = faem Sifs

1. s

2. g yA

3. agi

4. =l g

I § ¥ BHE-H g I He € 2
(a) ad 1301 3

(b) haw 330N 4

(¢) “hael 1,230 4

(d 1,2,334

qtﬁl?mzﬁﬁsm

100. ¥Rd H %ﬁmgﬁzﬁw \\@T‘-‘@Eﬂ

98. f=fafad wemi w e fifsw
1. “vwel g gatEe”
m%ﬁéa)?ﬁq&mm v@&
srfufrm, 2006 #
\%}Q‘; )a»‘rq'ﬂfam
(éf-aaz@{ e 2 o & |
qzﬂzmrl g1 IR SeEry ufEdA
mmzﬁ%mnﬁﬂﬂwﬁ
FEAR SHGE YR % foe gafam |
sfysR R i =9 4 foly & 2
3R IHhT =GO HTT B |
ITYH HE T A BV T B 2
(n) oherel 130T 2
(b) ae 23R 3
(c) aw 3
(@ 1,233
CYRF-F-TXLI (42-A)
[= = === — == —— =

‘ﬁf&a; mraq F fou wim wrefwd
mﬂaﬂd})?&rﬂumﬂwﬁtﬁmw

% wrieyH w@ frew & @ +1d wa
%l

2. w3 & fraram % fau ‘S sk
WeEHd @ I frata fawm sftesor’
(APEDA) @fed@ed & &9 § & Fal
8

3. Taftsm v = ggen gl
TR

IF® HU H Y ARV T A 0

(a) ad 131 2

(b) Had 231 3

(c) *hae 3

d) 1,233

e A S u=
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97. Consider the following items : 99. Consider the following :

1.  Cereal grains hulled 1. Birds

2.  Chicken eggs cooked Dust blowing

2
3.  Fish processed and canned 5 i
4

: .. Wind blowing
4. Newspapers containing advertising

material Which of the above spread plant diseases ?

Which of the above items is/are exempted (a) 1and 3only

: ?
under GST (Goods and Services Tax) ? (b) 3 and 4 only

(a) 1only () 1,2 and 4 only

(b) 2and3only (d 1,2,3and4
(¢) 1,2and4only

(d 1,2,3and4
100. With reference to organic fa Aag in India,

conmder thé fnllowm@u@nen ¥

: ) he \gtmna Programme for Organic
98. Consider the following statements : %:,

roduction” (NPOP) is operated under

1. The definition of Cnllcal \ﬂ \ the guidelines and directions of the
'otest‘

Habitat” is incorporated in” Union Ministry of Rural Development.
Bights Act, Z()f}h 2. ‘The Agricultural and Processed Food

2. [‘ty'_the g\ time in India, Baigas have Products Export Development
\vgl\ze}} Habitat Rights. Authority’ (APEDA) functions as the
3. Union Ministry of Environment, Forest Secretariat for the implementation of
and Climate Change officially decides e
and declares Habitat Rights for 3. Sikkim has become India’s first fully
Primitive and Vulnerable Tribal Groups organic State.

in any part of India. . '
) Which of the statements given above is/arc
Which of the statements given above is/are correct ?

correct ?
(a) 1and?2onl
(a) 1and 2only ¢

(b) 2 and 3 only (b) 2 and 3 only

(¢) 3only (¢) 3only
(d 1,2and3

(d 1,2and3
CYRF-F-TXLI (43-A)
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Test Booklet in the Box provided alongside. & . \(\\ :
DO NOT write anything else on the Test Booklet. o A ®

W B e
4.  This Test Booklet contains 100 items (questions). Bach item s pri\:dl(}hﬂ{uth in Hindi and English.
Each item comprises four responses (answers), You 'ill{.&;lh-u[,\\hu respunse which you want to mark
on the Answer Sheet. In case you feel lha\l.ﬁ.h re is more than one correct response, mark the

. i = ff % % .
response which you consider the hest \IMafy-ease, choose ONLY ONE response for each item.
Froz i \\ X po

5.  You have to mark all your resppiises QNLY=6n the separate Answer Sheet provided. See directions
in the Answer H}\l‘.[“l. l\. & v
- b\
6. . All items carry ||s.éqéla\ marks,
7.  Before Q\mf)_ﬁwé,e} to mark in“the Answer Sheet the response to various items in the Test Booklet,

ytﬂ.y ;c'\tolff‘ljl in/Some particulars in the Answer Sheet as per instructions sent to you with your

A wism\g}ﬂbnrfiﬁcum.

8. After you have completed filling in all your resylmn.«:us on the Answer Sheet and the examination has
concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted to
take away with you the Test Booklet. '

9. Sheets for rough work are appended in the Test Booklet at the end.

10. Penalty for wrong answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS.

(i) There are four alternatives for the answer to every question. For each question for which a wrong answer
has been given by the candidate, one-third of the marks assigned to that question will be deducted as
penally.

(ii) If a candidate gives more than one answer, it will be treated as a wrong answer even if one of the given

answers happens to be correct and there will be same penalty as above to that question.
(iii) If a question is left blank, i.c., no answer is given by the candidate, there will be no penalty for that
question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
BT 9 : IR W Tl T 39 qfee % 996 99 W o @ |

CYRF-F-TXLI

RaadheytheVisiion | | Contact us: - +91962575753; +918889907405
mailto:mentorship@raadheythevisiion.in raadheythevisiion.in
Mukherjee Nagar, North West, Delhi-110009



mailto:mentorship@raadheythevisiion.in
raadheythevisiion.in

